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Question 14
MNot yet

Marked out of
10

¥ Flag

Time left 0-25:

Four samples were weighed using three different balances. (All are as accurate as the precision
indicates_ ) The masses are 094 kg, 58 2 g, 1.55 g, and 250 mg. The total mass should be

reported as

O a 10kg.

O b. 1.000 kg.
O c. 1.00000 kg.
) d. 1.0000 kg.
O e. 1.00 kg.
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GENERAL CHEMISTRY | /il area

Question 13

Not yet
answered

Marked out of
1.0

¥ Flag
question

Time left 0-27:58

An impure sample of benzoic acid is titrated with 0 9855 M NaOH. A 3.412-g sample requires
24 43 mL of titrant to reach the endpoint. What is the percent by mass of benzoic acid in the

sample? CgHsCOOH(aq) + NaOH(ag) — NaCgHsCOO(aq) + H.O(l)

O a. 0.01971 %
() b. 2407 %
Qe 1971%
(O d. 86.18 %
2 e 100 %

Next page

Quiz navigation
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Finish attempt
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Quiz navigation

Question 10 A solution contains 6.00% (by mass) or (mass/mass) NaBr (sodium bromide) (molar mass =
Not yet 102.89 g/mol). The density of the solution is 1.30 g/cm> What is the molarity of the NaBr
Marked out of M1 121113]]114]] 15
10 O a 0758
¥ Flag
question ) b. 0.305 Finish attempt
() ¢. 0583 Time left 0:26:33
O d 0105
O e. 0.280

Next page
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Quiz navigation
Question 9 Which one of these equations describes a redox reaction? .
73

M I e e ||
answered O a Fex04(s) + 3CO(g) — 2Fe(s) + 3COs(g) 1 o |
10

]

Marked out of

10 O b. H(aq) + OH(aq) — HO(l)

v Fiag -

question O ¢ 2KBr(aq) + Pb(NO3)x(aq) — 2KNOs(aq) + PbBra(s) Finish attempt

O d. COs*(aq) + HSO, (aq) — HCOy (aq) + SO (aq) DR Rn

) e CaBra(aq) + H2S04(aq) — CaS04(s) + 2HBr(g)
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GENERAL CHEMISTRY | /cuaill asen

Quiz navigation

Question 11 Based on the solubility rules, which one of these compounds should be soluble in water?
o o I O
answered O a PbSO4 1 1 1 1 1
Marked out of 10 12|[13|[14]] 15
oo, ]
" Fla
t .B" () ¢. BaS04 . d Finish attempt
) d. CoC -v
C k2 Time left 0:24:40
() e. CaSOq,
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14 _ Quiz navigation
Question A stock solution of potassium dichromate, K;Cr,0; (Molar mass= 294185 g/mol) is made by
Not yet dissolving 84.50 g of the compound in 1 L of solution. How many milliliters of this solution are uww 4||s5|[e]|l7]|[8]]9
oo required to prepare 1 dm® of 0.100 M K,Cr,05
Marked out of 10][11][12][ 13
s () a 348
" Flag
question ) b. 201 Finish attempt
() c. 430 Time left 0:16:58
(U d.52.2
O e 522
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Queston 6
Not yet

Marked out of
10

" Flag

The oxidation number of N in NaNO,, is

() a +6
O b.+3
(c+4
() d +1
(e +5

Quiz navigation
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rinish attempt

Time left 0:30:15
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